Ratio to CMS

1000/c 2do)/d(m_1 + m_2) [1/GeV]

7QOO C;ev PP

=
o
w

H
o
N

~
N ~

=
o

I IIIIIH I IIIIIII|
NER

Pruned Jet Mass(anti-kT(OJ), 2800<p_<1000, |y|<2.5)

Rivet 3.1.0, = 7.3M events

L L L]
mcplots.cern.ch [arXiv:1306.3436]

N

1= —
-1 |
10 = m CMS
— --3-- Herwig 7.0.0 default
L —&— Pythia 8.210 default -
102 &= ¢ Sherpa 2.2.8 default ]
| — Ly | | | | | | | | | | | ]
:l \‘ T T T T | T T T T | T T T I:
2 &= =
- O _
—Q \\\ ’ ’ —
1 Eala\y K =
0.5

(m_1+m_2)/2[GeV]



	Contents
	Page 1


